
Β ΛΥΚΕΙΟΥ ΑΛΓΕΒΡΑ 
 

16.4    1) 

α)   
π π

σφx σφ x κπ
6 6

      , κ Ζ         β)   
π π

σφx σφ 5y x κπ 5y
3 3

 
      

 
  , κ Ζ  

16.4    2) 

π π
σφx σφ x κπ , κ Ζ

2 2
      

16.4    3) 

π π
σφx σφ x κπ , κ Ζ

3 3
      

16.4    4) 

π π
σφx σφ α x κπ α , κ Ζ

6 6

 
       

 
 

16.4    5) 

π π
σφx σφ x κπ , κ Ζ

4 4
      

16.4    6) 

σφx σφ11y x κπ 11y , κ Ζ      

16.4    7) 

π π
σφx σφ 3y x κπ 3y , κ Ζ

4 4

 
       

 
 

 
 


